p1

Tl\@ (ha-"'uro..d e,leanc.v»é\a.( Pumcflon \/=Q)f

I) Bosics. !
Reccll that _ X
% [b*1 = In(s):h (>¢)
X

For h7O. So, ,'(’ e I1s a hum‘nr w;‘”«\ /h(e)=1)
then (*)‘_ﬁi\/es

7’5&_ [e¥] = 1-e”" or, merc sm-./%ly,
X

d [X]= e e” 15 tfs owon
Ax. Lectvative .
Nofe that e lso\bs’ta humber. Lohich number ?
Well receldl ﬂno:é ) ax
ln“s) = lim b -1,

4%X >0 ax

P[u n b=e: ax
> =ine)=|m e -1,
AXS>0O aXx
Qolve for e:
. 1/ax
e= lwm (/*AX) -
AXS0O
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We con use this to G-Pl:raxlm‘l'e e’ we Jesé
e= 2. 7BATIBII...
Exa.misles. Find.:

() A [ sme)] @ 4 [eS"]

g l: Ife“YJ

Soltion .
(1) jlﬁ_ L sin(e¥)]= ws(ex)-&_c)% [e.xj
X
= c.os(e )-e
= e’cos(e*).
thG (
(8) _&_ Ee,s x)_] < esm b &L L smtx]]
ax cos(x) e_smw A

(3) d _(1+e)- 501 )’"ﬂ[’*em
&Y l:l*' J (1+edr)d

_ (1+e™) 1= y (o+e™2) . |,,eﬂy_£;yeav
(1+ J* ((+e?Y)4
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From o Mod!e,lu:; rersruf:va, Hhe be ( .
cbout the naFiral e.)(,bm‘l"al Ohction 15 thes

Exa.»ab"l .
Shew that , for awy constants Po ondl k, the
#UV\C&IOV\ lﬂ":

P=pFe »
56*(5?[.6.8 the “lhu‘l‘le..l valve ProLEM

AP =kP,  POY=P,.
. dt I o.n initial c,ok&:‘l‘zou (IC,B
a & fferent ol ezuo}wu\ (DE)

* B“l “lm‘(‘tc..l velve Proélc.k'/ e mecah - one of

more DE's to.gc,ﬂer with enc. or more TCS.

Solution.
F-CI'SG’ f/\c. DE: k'é
AP = A [Pe 1= R 4are]
d{ dtk‘e ] Pdtk'e
=Poe . 4 [kt]l = fLe" -k
A ths 5 P!
= P. k =kB as cloamed.
Next, the Tc:

k-©
Po)= Fre =Pri: B,

a.lse as c{almcoQ.



